EUEETE =y

B p<01 i p<.01
(kg/m?) (kg/m?)
10 - * 10 - *
9 - 9 -
8 - 8
7 7 -
6 - 6 -
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BHERE
FE p<0l i p=.06
(kg/m?) (kg/m?)
10 - * 10 - NS
9 - 9 -

Not frail

X3 : E55 & D (Skeletal muscle index)
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* 5 *
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V8]
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Frail Not frail Frail
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(kg)
* 3 *
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Not frail
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B4 BB LEEKS (&5 EFE-BIAKE-)



(m/s)
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1450 -

1400 -+

{m/s)
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1450 -
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FE p<0l i p<.01

Not frail
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Frail

B p<.01 it
(m/s)

p<.01

* 1600 *
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1450 -
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Not frail

E5 : B85 &A@ (Speed of sound)



B p<.01 ¥ p<.0l
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100 * 100 - *
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6 : 255 & HBERE (%YAM)
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X7 : E55 & HHERO (%AGE)




FHE p=09 . p=.65
(g/dD) (g/dD)
8 - NS 8 - NS
7.5 - 75 -
7 7 -
6.5 6.5 -~
6 e 6 .
Frail Not frail Frail
HmEESE
B p=63 o p=.14
(g/dD) (g/dD)
8 NS 8§ - NS
75 -
7 .
6.5 -
6 .

Not frail

K8 : EFE L miE=—r—0 (RER)



B p<0l T p< .01
(g/dD) (g/dD)
5 - * 5 *
]
45 -
4 .
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Not frail Frail Not frail Frail
B
FE p<0l & p<.01
(g/dD) (g/dD)
5 - * 3 - *

X9: BB LMBEY—H—@ (TALTIV)



. p=38 ¥ p=.93
(mg/dD) (mg/dl)
180 - NS 186 NS
170 - 170
160 - 160
150 - 156 -
146 - 140 -
130 130

Not frail Frail
BEERE

5% p=9 o p=12
(mg/dD) (mg/dD)
180 - NS 180 NS
170 - 170 -
160 - 160 -
150 - 150 -
140 140 -
130 130

Not frail

B10 : 5 L M~ — 2 —©@ (FHEEER)



(mg/dl)
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220 -
210 -
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190 -
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t
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) 230 - NS
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Rl : B L OE~—H—@ BILRAFr—A)

— 68 —
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(%)
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58 -
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(%)
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12 : EFH L MiE~—H—® (HbAlc)
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13 : B3 & EBHEROEFERD (FLE)
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19 : £5 L BEEROFERD (BALKERE)
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B20 : 55 & BEEER
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